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F-test example from Levine, Ramsey and Smidt
pp. 392, 415-417, 423 - 424

Problem description on p. 392

Test of means on pp. 415-417

Test of variances on pp. 423-424

Summary data from Table 9.5 on page 416

No Flaw (1)  Flawed (2)

n 18 40
Xbar 0.0359 0.0946
variance 0.000481 0.007059
std. dev 0.0218 0.084

F test with approximate degrees of freedom

nu1 15 approximates nu1 = 17

nu2 40 approximates nu2 = 39

alpha 0.05 significance of F-test

FU_crit 2.1819 = FINV( alpha/2, nu1_approx, nu2_approx )
FL_crit 0.3868 =1/ FINV( alpha/2, nu2_approx, nu1_approx )
FL_crit_alt 0.4095 =1/FINV( alpha/2, 40, 17 )

F test with exact degrees of freedom

nu1 17

nu2 39

alpha 0.05 significance of F-test

FU_crit 2.1388 =FINV( alpha/2, nu1_, nu2_)

FL_crit 0.4087 =1/FINV(alpha/2, nu2_, nul_)




